26.1.21 Daily Ten

How many vertices in a nonagon?

The product of 11 x 127

A third of 270

88 +11=

60+ 5=

6969 + 2549 =

/xX5=

5998 — 4739 =

250x 10 =

10. Perimeter of a rectangular field with sides 750 m by 3 km ?
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26.1.21

Ll: To divide a three-digit number by a one-digit number using partitioning




Fluency

Spr4.3.3 - Divide 3-digits by 1-digit on Vimeo

Hundreds Tens

Ones

OO0 000
el OO0

©e Q00

Use Annie’s method to calculate the divisions.
884 - 8 489 = 2

906 +3 884 +4

Rosie is using flexible partitioning to divide 3-digit numbers.
She uses her place value counters to support her.

5000 <
0000/00000 o
000000000

000000000

Use Rosie’s method to solve:
726 -6
846 +~ 6
846 + 7



https://vimeo.com/497992648

Complete Tuesday worksheet and true or false question.



